

$$f(x) = \frac{1+x}{(1-x^2)^2} = \frac{1+x}{(1+x)^2(1-x)^2} = \frac{1}{(1+x)(1-x)^2} \quad \text{pöD}$$

$$= \frac{A}{1+x} + \frac{B}{1-x} + \frac{C}{(1-x)^2} = \frac{A(1-x)^2 + B(1-x) + C(1+x)}{(1+x)(1-x)^2}$$

$$\underline{x=1} \quad 2C = 1 \Rightarrow \boxed{C = \frac{1}{2}}$$

$$\underline{x=-1} \quad 4A = 1 \Rightarrow \boxed{A = \frac{1}{4}}$$

$$\underline{x=0} \quad A + B + C = 1 \Rightarrow \boxed{B = \frac{1}{4}}$$

$$\Rightarrow f(x) = \frac{1}{4} \left[\frac{1}{1+x} + \frac{1}{1-x} + \frac{2}{(1-x)^2} \right]$$

Geometrische Reihe $\frac{1}{1-x} = \left(\sum_0^{\infty} x^n \right) \quad (|x| < 1)$

$$\Rightarrow \frac{1}{1-x} = \sum_0^{\infty} (-x)^n = \sum_0^{\infty} (-1)^n x^n$$

$$\frac{1}{(1-x)^2} = \left(\frac{1}{1-x} \right)' = \left(\sum_0^{\infty} x^n \right)' = \sum_1^{\infty} n x^{n-1} = \sum_{n \rightarrow n+1}^{\infty} (n+1) x^n$$

\cdot $\frac{d}{dx} \rightarrow$ $\frac{d}{dx} x^n = n x^{n-1}$ \cdot $0 = (x^0)'$

$$\Rightarrow f(x) = \frac{1}{4} \left[\sum_0^{\infty} x^n + \sum_0^{\infty} (-1)^n x^n + 2 \sum_{n=0}^{\infty} (n+1) x^n \right]$$

$$f(x) = \sum_{n=0}^{\infty} \frac{1 + (-1)^n + 2(n+1)}{4} x^n = \boxed{\sum_{n=0}^{\infty} \frac{2n+3+(-1)^n}{4} x^n}$$